

## GENERALIZATION AND SHARPNESS OF FINSLER–HADWIGER’S INEQUALITY AND ITS APPLICATIONS

SHANHE WU

(communicated by V. Volenec)

*Abstract.* In this paper, the following generalization and sharpness of Finsler-Hadwiger’s inequality is established

$$\sum a^\lambda \geq 2^\lambda 3^{1 - \frac{\lambda}{4}} F^{\frac{\lambda}{2}} + \sum |a - b|^\lambda + \sum_{n=1}^m \sum |a_n - b_n|^\lambda.$$

As consequence, an exponential Finsler-Hadwiger type inequality for tetrahedron is derived.

### 1. Introduction and main results

In what follows, for a given triangle  $ABC$ , we denote by  $a, b, c$  the lengths of its sides,  $F$  denotes the area of triangle  $ABC$ . We will customarily use the symbol of cyclic sum such as  $\sum f(a) = f(a) + f(b) + f(c)$ ,  $\sum f(a, b) = f(a, b) + f(b, c) + f(c, a)$ .

In 1937, Finsler and Hadwiger presented an important geometric inequality related to the sides and the area of a triangle (see [1]), as follows

$$\sum a^2 \geq 4\sqrt{3}F + \sum (a - b)^2. \tag{1}$$

Inequality (1) is known in the literature as Finsler-Hadwiger’s inequality. This celebrated inequality has motivated a large number of research papers involving its new proofs, various generalizations, analogues and applications etc. (see [2–4] and references therein). The purpose of this paper is to establish a new generalization and sharpness of Finsler-Hadwiger’s inequality. In Section 2, the obtained result will be used to establish an exponential Finsler-Hadwiger type inequality for tetrahedron.

Our main result is stated in the following Theorem:

**THEOREM 1.** *Let  $m$  be a natural number and let  $\lambda$  be a real number, and  $\lambda \geq 2$ . Then for any triangle  $ABC$  we have*

$$\sum a^\lambda \geq 2^\lambda 3^{1 - \frac{\lambda}{4}} F^{\frac{\lambda}{2}} + \sum |a - b|^\lambda + \sum_{n=1}^m \sum |a_n - b_n|^\lambda, \tag{2}$$

*Mathematics subject classification* (2000): 26D15.

*Key words and phrases:* Finsler-Hadwiger’s inequality, Weitzenböck’s inequality, power means inequality, triangle, tetrahedron.

The author was supported by Project Foundation of Fujian Province Education Department (No. JA05324).

where  $a_n, b_n, c_n$  are defined by  $a_0 = a, b_0 = b, c_0 = c$ , satisfying

$$a_n = \sqrt{a_{n-1}(b_{n-1} + c_{n-1} - a_{n-1})}, \quad b_n = \sqrt{b_{n-1}(c_{n-1} + a_{n-1} - b_{n-1})},$$

$$c_n = \sqrt{c_{n-1}(a_{n-1} + b_{n-1} - c_{n-1})}, \quad n = 1, 2, 3, \dots, m.$$

The equality holds in (2) if and only if the triangle is equilateral.

REMARK. The Lemma 3 below will reveals that  $a_n, b_n, c_n$  ( $n = 1, 2, 3, \dots, m$ ) are exactly the lengths of sides of a triangle.

LEMMA 1. (Power means inequality [5,pp. 26]) Let  $x_1, x_2, \dots, x_n$  be nonnegative numbers, and  $p \geq 1$ . Then

$$\sum_{i=1}^n x_i^p \geq n^{1-p} \left( \sum_{i=1}^n x_i \right)^p, \tag{3}$$

with equality holding if and only if  $x_1 = x_2 = \dots = x_n$  or  $p = 1$ .

$$(x_1 + x_2)^p \geq x_1^p + x_2^p, \tag{4}$$

with equality holding if and only if  $x_1 = 0$  or  $x_2 = 0$  or  $p = 1$ .

LEMMA 2. Let  $\lambda$  be real numbers, and  $\lambda \geq 2$ . Then for any triangle ABC we have

$$\sum a^\lambda \geq \sum |a - b|^\lambda + \sum [\sqrt{a(b + c - a)}]^\lambda, \tag{5}$$

with equality holding if and only if the triangle is equilateral, or  $\lambda = 2$ .

*Proof.* Using Lemma 1, it follows that

$$\begin{aligned} \sum a^\lambda &= \sum [(b - c)^2 + (c + a - b)(a + b - c)]^{\frac{\lambda}{2}} \\ &\geq \sum [|b - c|^\lambda + (c + a - b)^{\frac{\lambda}{2}}(a + b - c)^{\frac{\lambda}{2}}] \\ &= \sum |b - c|^\lambda + \sum (c + a - b)^{\frac{\lambda}{2}}(a + b - c)^{\frac{\lambda}{2}} \\ &= \sum |b - c|^\lambda + \frac{1}{2} \sum (b + c - a)^{\frac{\lambda}{2}} [(c + a - b)^{\frac{\lambda}{2}} + (a + b - c)^{\frac{\lambda}{2}}] \\ &\geq \sum |b - c|^\lambda + 2^{-\frac{\lambda}{2}} \sum (b + c - a)^{\frac{\lambda}{2}} (c + a - b + a + b - c)^{\frac{\lambda}{2}} \\ &= \sum |a - b|^\lambda + \sum [\sqrt{a(b + c - a)}]^\lambda. \end{aligned}$$

Thus

$$\sum a^\lambda \geq \sum |a - b|^\lambda + \sum [\sqrt{a(b + c - a)}]^\lambda.$$

The condition of the equality in (5) follows immediately from inequalities (3) and (4). The Lemma 2 is proved.

LEMMA 3. Let  $a, b, c$  be the lengths of sides of triangle ABC, and let

$$a_1 = \sqrt{a(b + c - a)}, \quad b_1 = \sqrt{b(c + a - b)}, \quad c_1 = \sqrt{c(a + b - c)}. \tag{6}$$

Then there exists a triangle  $A_1B_1C_1$  with the lengths of sides  $a_1, b_1, c_1$ , and its area  $F_1 = F$ .

*Proof.* From the assumption in (6), we have

$$\begin{aligned} (a_1 + b_1)^2 &= a(b + c - a) + b(c + a - b) + 2\sqrt{ab(b + c - a)(c + a - b)} \\ &> a(b + c - a) + b(c + a - b) \\ &= c(a + b - c) + (b + c - a)(c + a - b) \\ &> c(a + b - c) = c_1^2. \end{aligned}$$

This yields  $a_1 + b_1 > c_1$ . Similarly to the above, we can obtain  $b_1 + c_1 > a_1$  and  $c_1 + a_1 > b_1$ . Consequently, there exists a triangle  $A_1B_1C_1$  with the sides  $a_1, b_1, c_1$ . Now we calculate the area of the triangle  $A_1B_1C_1$ .

Utilizing the Heron's formula for area of triangle, we get that

$$\begin{aligned} 16F_1^2 &= 2 \sum a_1^2 b_1^2 - \sum a_1^4 = 2 \sum ab(b + c - a)(c + a - b) - \sum [a(b + c - a)]^2 \\ &= 2 \sum a^2 b^2 - \sum a^4 = 16F^2, \end{aligned}$$

which leads to  $F_1 = F$ . The proof of Lemma 3 is complete.

*Proof of Theorem 1.* Define a sequence  $\{a_n, b_n, c_n\}$  by  $a, b, c$ , as follows

$$\begin{aligned} a_0 &= a, \quad b_0 = b, \quad c_0 = c, \\ a_n &= \sqrt{a_{n-1}(b_{n-1} + c_{n-1} - a_{n-1})}, \quad b_n = \sqrt{b_{n-1}(c_{n-1} + a_{n-1} - b_{n-1})}, \\ c_n &= \sqrt{c_{n-1}(a_{n-1} + b_{n-1} - c_{n-1})}, \quad n = 1, 2, 3, \dots, m + 1. \end{aligned}$$

By Lemma 3, we find that there exists a sequence of triangle  $\{\triangle A_n B_n C_n\}$  ( $n = 1, 2, 3, \dots, m + 1$ ) with the lengths of sides  $a_n, b_n, c_n$  ( $n = 1, 2, 3, \dots, m + 1$ ), and their areas satisfy that  $F_n = F$  for  $n = 1, 2, 3, \dots, m + 1$ .

Applying Lemma 2 together with the above definition, we have

$$\begin{aligned} \sum a^\lambda &\geq \sum |a - b|^\lambda + \sum a_1^\lambda \\ &\geq \sum |a - b|^\lambda + \sum |a_1 - b_1|^\lambda + \sum a_2^\lambda \\ &\geq \dots \geq \sum |a - b|^\lambda + \sum |a_1 - b_1|^\lambda + \dots + \sum |a_m - b_m|^\lambda + \sum a_{m+1}^\lambda. \end{aligned}$$

From Lemma 1 and the above inequality we obtain

$$\sum a^\lambda \geq \sum |a - b|^\lambda + \sum_{n=1}^m \sum |a_n - b_n|^\lambda + 3^{1 - \frac{\lambda}{2}} (\sum a_{m+1}^2)^{\frac{\lambda}{2}}. \tag{7}$$

On the other hand, in view of  $a_{m+1}, b_{m+1}, c_{m+1}$  are the lengths of sides of triangle  $A_{m+1}B_{m+1}C_{m+1}$ , it is known that the following Weitzenböck's inequality holds[1]:

$$\sum a_{m+1}^2 \geq 4\sqrt{3}F_{m+1}, \tag{8}$$

with the equality if and only if the triangle is equilateral.

Combining inequalities (7), (8) and the relation  $F_{m+1} = F$ , we deduce that

$$\sum a^\lambda \geq \sum |a - b|^\lambda + \sum_{n=1}^m \sum |a_n - b_n|^\lambda + 2^\lambda 3^{1 - \frac{\lambda}{4}} F^{\frac{\lambda}{2}}. \tag{9}$$

The condition of equality in (2) follows immediately from (8) and Lemma 2. This completes the proof of Theorem 1.

Putting  $m = 1$  in Theorem 1, we obtain the following fresh inequality:

**COROLLARY 1.** *Let  $\lambda$  be real numbers, and  $\lambda \geq 2$ . Then for any triangle  $ABC$  we have*

$$\sum a^\lambda \geq 2^\lambda 3^{1-\frac{\lambda}{4}} F^{\frac{\lambda}{2}} + \sum |a-b|^\lambda + \sum \left| \sqrt{a(b+c-a)} - \sqrt{b(c+a-b)} \right|^\lambda. \quad (10)$$

In (10), the special case  $\lambda = 2$  yields a remarkable sharpness of Finsler-Hadwiger's inequality, as follows

**COROLLARY 2.** *For any triangle  $ABC$ , the following inequality holds*

$$\sum a^2 \geq 4\sqrt{3}F + \sum (a-b)^2 + \sum [\sqrt{a(b+c-a)} - \sqrt{b(c+a-b)}]^2. \quad (11)$$

## 2. Application to the tetrahedron inequality

In this section we will establish an exponential Finsler-Hadwiger type inequality for tetrahedron by using the above results.

For a tetrahedron  $A_1A_2A_3A_4$ , we state that  $A_1, A_2, A_3, A_4$  denote the vertexes of tetrahedron,  $a_1, a_2, a_3, a_4, a_5, a_6$  denote the edge lengths of tetrahedron,  $V$  is the volume of tetrahedron.

**THEOREM 2.** *Let  $\lambda$  be real numbers, and  $\lambda \geq 2$ , Then for any tetrahedron  $A_1A_2A_3A_4$  we have*

$$\sum_{i=1}^6 a_i^\lambda \geq 2^{1+\frac{\lambda}{2}} 3^{1+\frac{\lambda}{3}} V^{\frac{\lambda}{3}} + (2+6^{\frac{\lambda}{2}}-1)^{-1} \sum_{1 \leq i < j \leq 6} |a_i - a_j|^\lambda, \quad (12)$$

with equality holding if and only if the tetrahedron is regular.

*Proof.* In tetrahedron  $A_1A_2A_3A_4$ , without loss of generality we may assume that  $a_1 = A_1A_2$ ,  $a_2 = A_1A_3$ ,  $a_3 = A_1A_4$ ,  $a_4 = A_3A_4$ ,  $a_5 = A_2A_4$ ,  $a_6 = A_2A_3$ , and  $F_1, F_2, F_3, F_4$  denote respectively the areas of the faces  $A_2A_3A_4, A_1A_3A_4, A_1A_2A_4, A_1A_2A_3$ .

Applying Corollary 1 to triangle  $A_2A_3A_4$ , triangle  $A_1A_3A_4$ , triangle  $A_1A_2A_4$  and triangle  $A_1A_2A_3$  respectively, we obtain

$$\begin{aligned} a_4^\lambda + a_5^\lambda + a_6^\lambda &\geq 2^\lambda 3^{1-\frac{\lambda}{4}} F_1^{\frac{\lambda}{2}} + |a_4 - a_5|^\lambda + |a_4 - a_6|^\lambda + |a_5 - a_6|^\lambda, \\ a_2^\lambda + a_3^\lambda + a_4^\lambda &\geq 2^\lambda 3^{1-\frac{\lambda}{4}} F_2^{\frac{\lambda}{2}} + |a_2 - a_3|^\lambda + |a_2 - a_4|^\lambda + |a_3 - a_4|^\lambda, \\ a_1^\lambda + a_3^\lambda + a_5^\lambda &\geq 2^\lambda 3^{1-\frac{\lambda}{4}} F_3^{\frac{\lambda}{2}} + |a_1 - a_3|^\lambda + |a_1 - a_5|^\lambda + |a_3 - a_5|^\lambda, \\ a_1^\lambda + a_2^\lambda + a_6^\lambda &\geq 2^\lambda 3^{1-\frac{\lambda}{4}} F_4^{\frac{\lambda}{2}} + |a_1 - a_2|^\lambda + |a_1 - a_6|^\lambda + |a_2 - a_6|^\lambda. \end{aligned}$$

Summing both sides of the above inequalities respectively with a simple calculation, we get

$$\sum_{i=1}^6 a_i^\lambda \geq 2^{\lambda-1} 3^{1-\frac{\lambda}{4}} \sum_{i=1}^4 F_i^{\frac{\lambda}{2}} + \frac{1}{2} (-|a_1-a_4|^\lambda - |a_2-a_5|^\lambda - |a_3-a_6|^\lambda + \sum_{1 \leq i < j \leq 6} |a_i-a_j|^\lambda). \tag{13}$$

On the other hand, from Lemma 1 we have

$$\begin{aligned} & |a_4 - a_5|^\lambda + |a_4 - a_6|^\lambda + |a_5 - a_6|^\lambda + |a_2 - a_3|^\lambda + |a_2 - a_4|^\lambda + |a_3 - a_4|^\lambda \\ & + |a_1 - a_3|^\lambda + |a_1 - a_5|^\lambda + |a_3 - a_5|^\lambda + |a_1 - a_2|^\lambda + |a_1 - a_6|^\lambda + |a_2 - a_6|^\lambda \\ & \geq 12^{1-\frac{\lambda}{2}} [(a_4 - a_5)^2 + (a_4 - a_6)^2 + (a_5 - a_6)^2 + (a_2 - a_3)^2 + (a_2 - a_4)^2 + (a_3 - a_4)^2 \\ & + (a_1 - a_3)^2 + (a_1 - a_5)^2 + (a_3 - a_5)^2 + (a_1 - a_2)^2 + (a_1 - a_6)^2 + (a_2 - a_6)^2]^{\frac{\lambda}{2}} \\ & = 12^{1-\frac{\lambda}{2}} [2(a_1 - a_4)^2 + 2(a_2 - a_5)^2 + 2(a_3 - a_6)^2 \\ & + (a_1 + a_4 - a_2 - a_5)^2 + (a_1 + a_4 - a_3 - a_6)^2 + (a_2 + a_5 - a_3 - a_6)^2]^{\frac{\lambda}{2}} \\ & \geq 12^{1-\frac{\lambda}{2}} 2^{\frac{\lambda}{2}} [(a_1 - a_4)^2 + (a_2 - a_5)^2 + (a_3 - a_6)^2]^{\frac{\lambda}{2}} \\ & \geq 12^{1-\frac{\lambda}{2}} 2^{\frac{\lambda}{2}} (|a_1 - a_4|^\lambda + |a_2 - a_5|^\lambda + |a_3 - a_6|^\lambda). \end{aligned}$$

Further, the above inequality can be rewritten as

$$\sum_{1 \leq i < j \leq 6} |a_i - a_j|^\lambda \geq (1 + 12^{1-\frac{\lambda}{2}} 2^{\frac{\lambda}{2}}) (|a_1 - a_4|^\lambda + |a_2 - a_5|^\lambda + |a_3 - a_6|^\lambda),$$

that is

$$|a_1 - a_4|^\lambda + |a_2 - a_5|^\lambda + |a_3 - a_6|^\lambda \leq (1 + 12^{1-\frac{\lambda}{2}} 2^{\frac{\lambda}{2}})^{-1} \sum_{1 \leq i < j \leq 6} |a_i - a_j|^\lambda. \tag{14}$$

We deduce from inequalities (13) and (14) that

$$\sum_{i=1}^6 a_i^\lambda \geq 2^{\lambda-1} 3^{1-\frac{\lambda}{4}} \sum_{i=1}^4 F_i^{\frac{\lambda}{2}} + (2 + 6^{\frac{\lambda}{2}} - 1)^{-1} \sum_{1 \leq i < j \leq 6} |a_i - a_j|^\lambda. \tag{15}$$

In addition, by the arithmetic-geometric mean inequality and the known inequality for tetrahedron [6]:

$$\prod_{i=1}^4 F_i \geq \frac{81 \sqrt[3]{9}}{16} V^{\frac{8}{3}}, \tag{16}$$

with the equality if and only if the tetrahedron is regular.

We obtain that

$$\sum_{i=1}^4 F_i^{\frac{\lambda}{2}} \geq 4 \left( \prod_{i=1}^4 F_i \right)^{\frac{\lambda}{8}} \geq 2^{2-\frac{\lambda}{2}} 3^{\frac{7\lambda}{12}} V^{\frac{\lambda}{3}}. \tag{17}$$

Combining inequalities (15) and (17) leads to inequality (12) immediately. Moreover, Corollary 1 and inequality (16) show that the equality holds in (12) if and only if the tetrahedron is regular. The proof of Theorem 2 is complete.

In particular, putting  $\lambda = 2$  in Theorem 2, an interesting Finsler-Hadwiger type inequality for tetrahedron is derived as follows

COROLLARY 3. *For any tetrahedron  $A_1A_2A_3A_4$  we have*

$$\sum_{i=1}^6 a_i^2 \geq 12 \sqrt[3]{9V^{\frac{2}{3}}} + \frac{1}{3} \sum_{1 \leq i < j \leq 6} (a_i - a_j)^2. \quad (18)$$

*Acknowledgments.* The author is indebted to Mr. Zhihua Zhang for his helpful suggestion. The author also expresses thanks to Project Foundation of Fujian Province Education Department (No. JA05324) for support.

#### REFERENCES

- [1] O. BOTTEMA, R. Z. DJORDJEVIĆ, R. R. JANIĆ, D. S. MITRINOVIĆ AND P. M. VASIĆ, *Geometric Inequalities*, Wolters-Noordhoff, Groningen, 1969.
- [2] D. S. MITRINOVIĆ, J. E. PEČARIĆ AND V. VOLENEC, *Recent Advances in Geometric Inequalities*, Kluwer Academic Publishers, Dordrecht, Netherlands, (1989), 104–106.
- [3] D. S. MITRINOVIĆ, J. E. PEČARIĆ, V. VOLENEC AND J. CHEN, *Addenda to the Monograph: Recent Advances in Geometric Inequalities(I)*, Journal of Ningbo University, **4**, (2) (1991), 80–81.
- [4] Z. SHAN, *Geometric Inequality in China*, Jiangsu Education Publishing House, Nanjing, (1996), 82–86 (in Chinese).
- [5] G. HARDY, J. E. LITTLEWOOD AND G. PÓLYA, *Inequalities*, 2nd ed. Cambridge University Press, Cambridge, UK, 1952.
- [6] S. H. WU, *Generalization of some inequalities for tetrahedron*, Journal of Longyan Teachers College, **21**, (3) (2003), 8–12 (in Chinese).

(Received April 7, 2005)

*Department of Mathematics  
Longyan College  
Longyan Fujian 364012  
People's Republic of China  
e-mail: wushanhe@yahoo.com.cn*